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પિમ પલદ્યાથી પભત્ર,  

ફી.એ./ફી.કોભ/ફી.એડ  અભ્માવક્રભભાાં િલેળ ભે઱લલા ફદર આ઩ને અભાયા લતી ખફૂ 

ખફૂ અભબનાંદન.આ઩ દૂયલતી પળક્ષણભાાં અભ્માવ કયી યહ્યા છો જેભાાં આ઩ની ઉ઩ય અધ્મા઩કનુાં 

કોઈ અંકુળ નથી.આ ઩દ્ધપતભાાં આ઩ને સ્લમભ અનળુાવન અ઩નાલવુાં જરૂયી છે.આ઩ને આ઩ના 

પલ઴મની કે્રરડટ અનવુાય આ પલ઴મભાાં દૈપનક ૨ કરાક વભમ પા઱લલો આલશ્મક છે. 

સ્લાધ્મામકામમનુાં પોભેટ એ આ઩ની વત્રાાંત ઩યીક્ષાના પોભેટ િભાણે જ યાખલાભાાં આલેર 

છે,જેથી ઩યીક્ષાની તૈમાયી અથે મોગ્મ વભજ ભાટે સ્લાધ્મામકામમ ખફૂ ઉ઩મોગી છે.સ્લાધ્મામકામોભાાં 

પછૂલાભાાં આલેર િશ્નોના જલાફ આ઩ને ભ઱ેરી અભ્માવ-વાભગ્રીભાાંથી વીધા જ કો઩ી કયલાના 

નથી,આ઩ જે લાાંચન કયો છો, જે વભજો છો, તે આ઩ની ઩ોતાની બા઴ાભાાં રખલાનુાં યશળેે. 

સ્લાધ્મામકામમનુાં પનુઃમલૂ્માાંકન થતુાં નથી જો કોઈ પલ઴મના સ્લાધ્મામકામમભાાં ઓછા ગણુ 

શોમ તો પયીથી રખેલુાં સ્લાધ્મામકામમ સ્લીકાયલાભાાં આલળે નરશ જેથી આ઩ િથભ લખતે જ 

વ્મલસ્સ્થત જલાફો રખી જભા કયાલળો જેથી વાયાભાાં વાયા ગણુ ભે઱લી ળકળો અને ઉત્તભ 

઩રયણાભ િાપ્ત કયી ળકળો. 

                                                                                ખફૂ ખફૂ શબુકાભનાઓ 

વશ, 

                                                                               સ્લાધ્મામકામમ પલબાગ 

 

 

 

 

 

 

 



 

અગત્મની સચૂનાઓ 

 વભમ ભમામદાભાાં આ઩ે સ્લાધ્મામકામમ રખી જભા કયાલવુાં જરૂયી છે. 

 સ્લાધ્મામકામમ જભા કયાલતી લખત ેતનેી યવીદ રલેી પયજીમાત છે .જેથી બપલગમભાાં સ્લાધ્મામકામમન ેરગતી કોઈ 

પછૂ઩યછ કયલી શોમ તનેા ઉકેરભાાં યવીદ યજૂ કયી ળકામ. 

 તભાયા ચકે થઇ ગમરેા સ્લાધ્મામકામમ તભાયી વત્રાાંત ઩યીક્ષા ઩શરેા જ કેન્દ્ર ઩ય યવીદ ફતાલી ઩યત રલેા જેથી 

઩યીક્ષાના લાાંચન અથ ે઩ણ તને ેઉ઩મોગભાાં રઇ ળકામ. 

 ફી .એ/.ફી.કોભ .અભ્માવક્રભના સ્લાધ્મામકામમભાાં ઩ાવ થલા ભાટે ૧૧ ગણુ રાલલા જરૂયી  છે ,જો તનેાથી ઓછા ગણુ શોમ 

તો ત ેસ્લાધ્મામકામમભાાં પલદ્યાથી ના઩ાવ ભાનલાભાાં આલળ ેઅને ત ેસ્લાધ્મામકામમ નલા વત્રનુાં ભ઱ેલીને પયીથી રખલાનુાં 

યશળેે.  

 સ્લાધ્મામકામમના ગણુ લગય પાઈનર ભાકમળીટ ભ઱ેલી ળકાળ ેનશીં 

 રખરેા સ્લાધ્મામકામમ જભા કયાલતી લખત ેતેની વાથ ેસ્લાધ્મામકામમનુાં િશ્ન઩ત્ર પયજીમાત જોડવુાં. 

 આ ઩છીનુાં ઩જે પલદ્યાથીએ પિન્દ્ટ કાઢી તભેાાં ભાાંગેર ભારશતી બયી રખરેા સ્લાધ્મામકામમના િથભ ઩જે ઉ઩ય રગાલવુાં. 
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Dr. Babasaheb Ambedkar Open University 
Assignment   

MSCIT -104 Fundamentals of Operating System 

Assignment - I 

Total Marks: 30  

______________________________________________________________________________ 
 
Q.1 Give answers in 800 words of the questions given below (Any One).                         8*1 

1. Discuss various types of Scheduling Algorithms in detail. 

2. Discuss Page replacement algorithms in detail. 

Q.2 Give answers in 400 words of the questions given below (Any Two).                       4*2 

1. Define state of the process with Diagram in brief. 

2. Define Multithreaded Model and Relationship between user threads and kernel threads. 

3. Discuss conditions for Deadlock in Operating System. 

Q. 3 Short notes. (Any Three)            3*3 

1. Cache Memory 

2. Internal Fragmentation 

3. Paged Memory Allocation 

4. Access Methods in file 

Q. 4 Choose the appropriate option from given below.                                               0.5*10 

1. Which of the following is not an operating system? 

A) Windows      B) Linux 

C) Oracle      D) DOS 

 

2. What is the full name of FAT? 

A) File attribute table     B) File allocation table 

C) Font attribute table     D) Format allocation table 

 

3. When does page fault occur? 

A) The page is present in memory   B) The deadlock occurs 

C) The page does not present in memory  D) The buffering occurs 

 



4. Banker’s algorithm is used for 

A) to rectify deadlock     B) to detect deadlock 

C) to prevent deadlock    D) to solve deadlock 

 

5. If the page size increases, the internal fragmentation is also? 

A) Decreases      B) Increases 

C) Remains constant     D) None of these 

 

6. Where are placed the list of processes that are prepared to be executed and waiting? 

A) Job queue      B) Ready queue 

C) Execution queue     D) Process queue 

 

7. What is the paging in the operating system? 

A) Memory management scheme   B) Network management scheme 

C) Internet management scheme   D) None of these 

 

8. Which of the following method is used to improve the main memory utilization? 

A) Swapping      B) Operating System 

C) Memory      D) None of these 

 

9. Which method is the best among file allocation methods? 

A) Linked       B) Contiguous 

C) Indexed      D) None of these 

 

10. Which of the following schedules threads? 

A) Virtual Memory     B) Operating System 

C) CPU      D) Input 

 

 

 

 

 

 

 

 

 

 



Dr. Babasaheb Ambedkar Open University 
Assignment   

MSCIT -104 Fundamentals of Operating System 

Assignment - II 

Total Marks: 30  

______________________________________________________________________________ 
Q.1 Give answers in 800 words of the questions given below (Any One).                      8*1 

1. What is Regular Expression? Explain with example. 

2. Discuss VI Editor Command in detail. 

Q.2 Give answers in 400 words of the questions given below (Any Two).                     4*2 

1. List out and define features of Linux Operating System. 

2. Explain Termination of Jobs (kill Command) with example. 

3. Define Command Line Argument with Example. 

Q. 3 Short notes. (Any Three)            3*3 

1. Linux Commands 

2. Semaphore  

3. Telnet: Remote Login 

4. Kernel and System Library 

Q. 4 Choose the appropriate option from given below.                                              0.5*10 

 

1. Which command creates a new shell? 

A) ah       B) oh 

C) ch       D) sh 

 

2. Who founded Linux Kernel? 

A) Bill Gates      B) Ben Thomas 

C) Richard Stallman     D) Linus Torvalds 

 

3. Which command is used to list contents of directories? 

A) tar       B) dir 

C) lp       D) ls 

 

 

 



 

4. What command is used to create Linux File Systems? 

A) fdisk      B) mkfs 

C) fsck       D) mount 

 

5. Which command is used to see the list of users who are currently logged-in? 

A) login      B) users 

C) who       D) which 

 

6. Which command is used to display the current working directory? 

A) path      B) pwd 

C) prompt $p$g     D) dir 

 

7. Shell script is ________. 

A) File containing a series of commands   B) File containing special symbols 

C) Group of commands     D) Group of functions  

 

8. We have to make it executable first by using ___, to run a script. 

A) chmod +w      B) chmod +r 

C) chmod + x      D) chmod +rwx 

 

9. What is Inter-Process communication? 

A) Communication within the process 

B) Communication between two processes 

C) Communication between two threads of same process 

D) None of the mentioned 

 

10. Semaphore is a/an _______ to solve the critical section problem. 

A) Hardware for a system     B) special program for a system 

C) integer variable      D) none of the mentioned  

 


